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If a rectangular box has sides of length 𝑥, 𝑥 + 4, 𝑥 − 5 (𝑤ℎ𝑒𝑟𝑒 𝑥 > 5), the volume of the box is:  
             
A.   𝑥3 − 𝑥2 − 20𝑥              B.   𝑥3 + 𝑥2 − 20𝑥               C.   𝑥3 − 𝑥2 − 20              
 
D.   𝑥3 − 20                         E.   𝑥3 − 𝑥 − 20 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

 

When 𝑥 = 2, find the value of the expression:  
−3|𝑥−2|

4
   

             

  A.   3              B.   𝟎              C.   −
3

4
              D.   −3            E.   None of these.  

 
 

Solution: 
  

−3|𝑥 − 2|

4
 =  

−3|2 − 2|

4
 =  

−3|0|

4
 =  

−3 ⋅ 0

4
 =  

0

4
 =  0 

 
 

Each week, we’ll reveal the answer to the previous week’s question! 
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